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�	
�� Gε
ij(dx)
 i, j ∈ N
 � ����� �����	����������
 ��� �� R+ ����
 ��

Gε
ij(dx) = 0 ��� j > i
 V ε

ij(dx) � ����� �� ���� Gε
ij(dx)
 Vε(dx) = (V ε

ij(dx))∞i,j=1 

Gε(dx) = (Gε

ij(dx))∞i,j=1 �

!����	�� mi =
∞∫
0

xGii(dx) � �	
�� ���� Gε
ij(dx) ��"����#��$�# ���� %����& '��(

�� � Gε
ij(dx) � ���%����� ���)��* �)�+����� "�����$, Gij(dx) ��� ε → 0
 ��)��

Gε
ij(dx)−−→

ε→0
Gij(dx) ; -�.

Gij(dx) = 0 (i �= j), Gii(dx) ≥ 0, Gii([0,∞)) = 1; -�.

lim
ε→0

1
ε
(I − Vε([0,∞))) = D = {dij}∞i,j=1, dij < ∞, i, j ∈ N; -/.

lim
ε→0

1
ε
(I − Gε([0,∞))) = C = {cij}∞i,j=1, cij < ∞, i, j ∈ N; -0.

sup
ε>0

∞∫
T

xV ε
ij(dx)−−−−→

T→∞0; -�.

inf
i∈N

mi > 0, sup
i∈N

mi < ∞; -1.

inf
i∈N

∞∑
j=1

dij > 0. -2.
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3�%��+���
 �� ���"��� %���� -�.
 "�� ���
 i ∈ N �����%,�#�� 0 < mi < ∞� 4����(

'����
 �	
�� ni =
∞∫
0

xVii(dx)
 "	 Vij(dx) ����� �� ���� Gij(dx)
 G(dx) = (Gij(dx))∞i,j=1 


V (dx) = (Vij(dx))∞i,j=1 
 M = diag{m1, m2, ...}
 N = diag{n1, n2...}�

.�/0�1�22� !� 5����#�� ���� Gii(dx) "����������� -"��� -�..
 �� ��	��"��
 ��
Gii(dx) = Vii(dx)
 ��)�� M = N �

!����	��

Nε =

∞∫
0

xVε(dx), Lε = N−1
ε (I − Vε([0;∞))), Qε(x) = e−xLε −

x∫
0

Vε(dy)e−(x−y)Lε .

6���������� ��������������
 7%�� �� Qε(x) ����������%$�# ��" ��� "����"+	�(
�� ������������'� ����"+	��� ��������% �����	����������'� �������� ��"����	���
-"��� 8�9
 8�9.�

:��'���	�� )���
���� ������� �
 	�	�	����� ���'� , �������������� 7%�� �*

Q(x) = (Qij(x))∞i,j=1 � �����$ |||Q||| =
∞∫

−∞
‖Q(x)‖dx < ∞
 "	 ‖A‖ = sup

i∈N

∞∑
j=1

|aij | �

����� ����� � ;� ��� Q ∈ � ��������� Q̂(λ) =
∞∫

−∞
eiλxQ(x)dx
 λ ∈ R�

������� �� ����3 Gε
ij(dx) 4�5606782�9�8 /�60� :!;
:�;� �65� Qε(x) ∈ � � 0�<6


2/=�8>� Qε(x)−−→
ε→0

Q(x) = V ([x;∞)) 4� 26��69 ��6>�6�/ ��

���������� 3��"��� %����� -1. �� -2. σ = inf
i

∞∑
j=1

dij

mi
> 0
 � ���% ‖e−tM−1D‖≤e−tσ�

5����#�� lim
ε→0

‖e−x1
ε Lε‖ = ‖e−xM−1D‖
 ��
 ���
��%$�� ���	�	"�$ �	�������#
 ����(

�%,��
 �� ‖e−xLε‖ ≤ e−εxσ� ����

+∞∫
0


 x∫

0

Vε(dy)e−(x−y)Lε


 dx =

+∞∫
0

Vε(dy)

+∞∫
y

e−(x−y)Lεdx =

=

+∞∫
0

Vε(dy)eyLε

(
e−xLεL−1

ε

∣∣∣y
+∞

)
=

+∞∫
0

L−1
ε Vε(dy) = Vε([0, +∞))L−1

ε .

3��"�� � � ��'�
 �� ‖e−xLε‖ ≤ e−εxσ �������,
 �� Qε(x) ∈ ��
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!�������� V ε(y) = Vε([y;∞))� <�"� dV ε(y) = −Vε(dy) �

Qε(x) = e−xLε +

x∫
0

dV ε(y) · e−(x−y)Lε = e−xLε + V ε(y)e−(x−y)Lε

∣∣∣x
0
−

−
x∫

0

V ε(y)e−(x−y)LεdyLε = −V ε(0)e−xLε −
x∫

0

V ε(y)e−(x−y)LεdyLε+

+e−xLε + V ε(x) = V ε(x) + (I − V ε(0))e−xLε −
x∫

0

V ε(y)e−(x−y)LεLεdy =

= V ε(x) + NεLεe
−xLε −

x∫
0

V ε(y)e−(x−y)LεLεdy.

!���+	��
 ��
V ε(x)−−→

ε→0
Q(x) = V ([x;∞)), -=.

∞∫
0

‖NεLεe
−xLε −

x∫
0

V ε(y)e−(x−y)LεLεdy‖dx −→
ε→0

0. -�.

!�� i �= j ��,��

∞∫
0

V
ε

ij(x)dx =

∞∫
0

V ε
ij([x;∞))dx =

∞∫
0

xV ε
ij(dx) + xV ε

ij([x;∞))
∣∣∣∞
0

=

=

c∫
0

xV ε
ij(dx) +

∞∫
c

xV ε
ij(dx) ≤ c · V ε

ij([0; c]) +

∞∫
c

xV ε
ij(dx).

3 %��� -/. �� -�. ��"����"�� �����%,�� c · V ε
ij([0; c])−−→

ε→0
0 ��

∞∫
c

xV ε
ij(dx)−−−→c→∞0�

!�� i = j ��,��

∞∫
0

|V ε

ii(x) − V ii(x)|dx =

c∫
0

|V ε

ii(x) − V ii(x)|dx +

∞∫
c

|V ε

ii(x) − V ii(x)|dx ≤

≤
c∫

0

|V ε

ii(x) − V ii(x)|dx +

∞∫
c

V ε
ii([x;∞))dx +

∞∫
c

Vii([x;∞))dx ≤

≤
c∫

0

|V ε
ii([0, x]) − Vii([0, x])|dx + c|1 − V ε

ii([0,∞))| +
∞∫
c

xV ε
ii(dx) +

∞∫
c

xVii(dx).

>	'�� )�����
 �� ���"��� %���� -�.
 ���	'����
∞∫
c

xV ε
ii(dx) �

∞∫
c

xVii(dx) ����������

��"����� ε �)�'�$�#�� "� 0
 � c|1−V ε
ii([0,∞))|−−→

ε→0
0 � |V ε

ii([0, x])−Vii([0, x])|−−→
ε→0

0 ���"���
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-0. �� -�. ��"����"��� 3��"�� �������, %���� -=.� !����	��

V
c

ε(y) =
{

V ε(y), y ≤ c,
0, y > c,

R
c

ε(y) =
{

0, y ≤ c,
V ε(y), y > c.

>	'�� )�����
 �� V ε(y) = V
c

ε(y) + R
c

ε(y)
 � ��+	


∞∫
0

|NεLεe
−xLε −

x∫
0

V ε(y)e−(x−y)LεLεdy|dx ≤

≤
∞∫
0

|NεLεe
−xLε −

x∫
0

V
c

ε(y)e−(x−y)LεLεdy|dx +

∞∫
0

|
x∫

0

R
c

ε(y)e−(x−y)LεLεdy|dx ≤

≤
c∫

0

|NεLεe
−xLε −

x∫
0

V
c

ε(y)e−(x−y)LεLεdy|dx +

∞∫
c

|NεLεe
−xLε−

−
x∫

0

V
c

ε(y)e−(x−y)LεLεdy|dx +

∞∫
c

|V ε(y)|dy

∞∫
0

|e−xLεLε|dx.

4�	
∞∫
0

‖e−xLεLε‖dx =
∞∫
0

‖e−x
ε Lε 1

εLε‖dx ≤ ‖ 1
εLε‖

∞∫
0

e−σxdx = 1
σ · ‖ 1

εLε‖−−→ε→0
‖M−1D‖

σ 


� ���	'���
∞∫
c

|V ε(y)|dy ��+�� ���)��� �� ���'�"�� ����� �� "�����'�$ ��)��% �����

c� <��%
∞∫
c

|V ε(y)|dy
∞∫
0

|e−xLεLε|dx → 0 ��� ε → 0�

����

∞∫
c

|NεLεe
−xLε −

x∫
0

V
c

ε(y)e−(x−y)LεLεdy|dx ≤ |Nε −
c∫

0

V ε(y)eyLεdy|
∞∫
c

|e−xLεLε|dx ≤

≤ |Nε −
c∫

0

V ε(y)dy|
∞∫
c

|e−xLεLε|dx

�
 �����'����


c∫
0

|NεLεe
−xLε −

x∫
0

V
c

ε(y)e−(x−y)LεLεdy|dx ≤ |Nε −
c∫

0

V ε(y)eyLεdy|
c∫

0

|e−xLεLε|dx ≤

≤ |Nε −
c∫

0

V ε(y)dy|
c∫

0

|e−xLεLε|dx.

5����#��
∞∫
0

V (y)dy = N � |Nε−
c∫
0

V ε(y)dy|−−→
ε→0

|N−
c∫
0

V (y)dy|, �� �� ��
%��� ��)��%
c �����%,�� -�.� <	��	�% � "��	"	���
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8/9.

���� �� ����3 �6>7�5602�>�8 {Qn}∞n=1 ⊂ � 4?�@�=�8>� 4� 26��69 ||| · ||| 56 Q ∈ �
� ��� λ ∈ [a; b] �>2/= Q̂(λ)−1� �65� 42�35��8>� �6>7�5602�>�8 {Fn}∞n=1 ⊂ � ��<�A B6
57� 0>�� 56>���286 0�7�<�� n

Q̂n(λ)−1 = F̂n(λ) ��� λ ∈ [a; b], |||Fn − F |||−−−→n→∞0, Q̂(λ)−1 = F̂ (λ) ��� λ ∈ [a; b].

!����	�� Ψε(λ) =
∞∫
0

eiλxVε(dx)
 Ψ(λ) =
∞∫
0

eiλxG(dx) =
∞∫
0

eiλxV (dx)�

������� �� ����3 Gε
ij(dx) 4�5606782�9�8 /�60� :!;
:�;� C<B6 57� <6126@6 λ ∈ R

�����D� (Ψ(λ) − I) 6?6�6�2�A �6 57� 0>�� −∞ < a < b < ∞ � 56>���286 ��7��
ε > 0 42�35/�8>� E/2<D�F F ∈ �, Fε ∈ � ��<�A B6 57� λ ∈ [a, b] 0�<62/=�8>�

F̂−1
ε (λ) = (I − Ψε(λ))(Lε − iλI)−1,

F̂−1(λ) =
i

λ
(I − Ψ(λ)),

Fε(x) →
ε→0

F (x)

4� 26��69 ��6>�6�/ ��

.�/0�1�22� �� ����� �)��������� ����� � (Ψ(λ)−I) , �����'�� %���� �	�	?�����(
����� ��� Gii(dx) % ����"�% �����	����������
 ����� #�

���������� 6��
��%$�� ��	�"+	��� �	�� � �� �	��	�� � "�� "��	"	���  �,* �	��	(
�� ��	)� ��������
 �� �	�	����	��� @%��, ����� � Q(x) = V ([x;∞)) �)�����	 ��

������ ����� ��'��" ����� # Q̂(λ) � Q̂ε(λ)�

A�,�� Q̂(λ) =
∞∫
0

eiλxV ([x,∞))dx =
∞∫
0

eiλxG([x,∞))dx =
∞∫
0

G(dy)
y∫
0

eiλxdx =

=
∞∫
0

G(dy) eiλx−1
iλ = 1

iλ (Ψ(λ) − I)� 3��"�� �����%,��
 �� ����� � Q̂(λ) ��, �)	��	�%�

����

Q̂ε(λ) =

∞∫
0

eiλxe−xLεdx −
∞∫
0

eiλx(

x∫
0

Vε(dy)e−(x−y)Lε)dx =

= (Lε − iλI)−1 − Ψε(λ)(Lε − iλI)−1 = (I − Ψε(λ))(Lε − iλI)−1.
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